

Números reales

Completar para que la igualdad resulte verdadera

$$\triangleright \sqrt[3]{a^{19}} = a \sqrt[3]{a}$$

$$\triangleright \sqrt[4]{11664} = \sqrt[4]{3}$$

$$\triangleright \sqrt[3]{192} - \sqrt[3]{648} + \sqrt[3]{3} + \sqrt[3]{2187} = \sqrt[3]{}$$

$$\triangleright \sqrt{3}(\sqrt{6} - 2) - (\sqrt{2} - 3)(\sqrt{2} + 3) = \sqrt{3} + \sqrt{\quad} +$$

$$\triangleright \frac{\sqrt{6}}{\sqrt{6} - \sqrt{2}} = \frac{\quad + \sqrt{\quad}}{\quad}$$

$$\triangleright (3\sqrt{2} - 4)^2 = \quad - \sqrt{\quad}$$